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ZEHAEL=_ 7.40 ZEHEAIL= ZEHAIL= ZEHRIL= ZEERIL=
AR REREKERRLT B FHEEL= FHEL= EHEEL= EHEEL= EHEEL= st
A% OKEEM) A% OKEEM) A% OKEEM) 1RE% (f@Bh)
EE L= EE L= EE L= EE L= EE L=
£ g iR 1% Tm&Y Tm&Y Tm3y TIm3zyY Tim3Y

SRR BT T As t=<10cm m
SAEREIBT T Co t=10cm m 2.00 14. 80 14. 80
SHERRERIE L T As t=3cm m
SHERRERIE L T As t=4cm m
SHERREIE L T Co t=10cm m 0. 60 4.44 4.44
SHERRERIE L T As t=8cm m
AR I T MEL m3 0. 56 4.14 4.14
ANEEIT HE m3
BRET Bt m3 0.50 3.70 3.70
BRET T+ m3
TERET M-30 t=17cm m 0. 60 4.44 4.44
LERET M-30 t=11cm m
TERET Rc-40 t=15cm m
BT c-30 t=10cm m
BT M-30 t=11cm m
BEREIET $EHIEEAs [t=3cm m 0. 60 4.44 4. 44
BEERT ZHIEEAs |t=bcm m
FAI7ILFT BHEEAs |t=8cm m
B MET k) m3 0. 56 4.14 4.14
ELTAIET Asi m3
BIAET Cotst m3 0.06 0.44 0.44




fEEE StEE

rEES=  #BKCo
% @ = 0.026x0.026x 1 4= 0.001 m?2 #7KCo
Tm3i Y EE
HHEAS H=1.03m [ ©) 7.4
Bt ;) = | % E
L g 0.60 |#HZ4YIBFT ( Co T=10cm ET )
T #8060 1.00 x 2% = m 2.0
AN 0.60 |##ZEERY _HL ( Co T=10cm )
SEE 010 1.00 x 0. 60 = m2 0. 60
FEWiERIT (EL) BiR Co {R 18 BB A S EEAs t=3cm
JEHIE  1.03 0.60x0. 93 = m3 0.56 | &%t 7. 4m
tiEHE]  0.93 HERELI (EMt) s :
SEYEE 0.00 0. 60 x 0. 82-0. 001 = m3 0.50 ; 5o
& T 0.00 |EMEERMET (M-30 T=17cm ) :
1.00 x 0. 60 = m2 | 0.60 L W30 x- 170
EER 000 |FREMHET (Re-40 T=0cm )
WiBERE  0.00 = m2 900 i
EEE 0.8 |BMEREMET (AS T=3cm ) 1026 A
FEHERE  0.00 1.00 x 0. 60 = m2 0. 60 806
TR BILHT (LH)  ABE
EB&%E  0.15 0.60x0.93 = m3 0.56 K 0
BT (Cob’3) 28, Q
SA7E02  0.60 0.60x 0. 100 = m3 0.06 ;
HIEE 0.08 100
e 0. 00 20
| ESME 0.026
PEHEIET | 0.93
HBEE | 0.83




@ 100mm AEZEC/KE

RT (KEHEM)

No.1
B X % =
£ p I DA fir | § k=
# #)
KEFR HPPE
RYIFLUE ¢ 100 m 97.5 97.5 67.1+30.4
EFRV K @100 % 90° & 1 1
EFRV K $100%x22 1/2° & 1 1
EFRV K $100x 11 1/4° & 1 1
I2S5SVUCHEFF—X $100x 75 & 1 1
EFA%E ®100x 50 & 2 2
BERBH I £ B At RSV E AL
FEE $50x @25 & 2 2
Y- F
KERTEYF# ¢ 100 = 2 2
YIM-Mt 5
KERALUF* ¢ 15 = 2 2
H=0. 9m
L1 5£BOX BOMA 8 4 4
SUS304
750" #EFH ¢ 15 #H 2 2
INIRIRTER ST ®25 awvHft = 1 1
H=0. 9m
EEFRV IR LE) BOM #H 1 1
Uil
EHART-7 r150mm m 97.5 97.5
Ui
REGAZ Y- b rf1150mm m 97.5 97.5
G )
RYUIFLUE
(BEES) T ¢ 100 m 97.5 97.5
RYIFLUEBMFET ¢ 100 AT 8 8
RYUIFLUEMFET o175 (&5 1 1
RYIFLUEBMFET 50 AT 2 2
Mz F T @50 a 2 2
MZAVEEE T ¢ 25 | 2 2
HUHHRET @75+ ®100 H 2 2
HYIEBOXBET @75 - ®100 & 2 2
150y MFT @715 a 2 2
ERAFRET P8 1 1
ESHABOXHFEL HE & 1 1
EHART-7 T m 97.5 97.5
HEGIZS -t T m 97.5 97.5




¢ 100mm AERECKEMKT (KEEH)

No.2
B X & =
£ 5 Bk~ 0 E EZ
£ T
As
LI T t=5cmLA T m 61 60. 8
Co
SEEYIET T t=10cmLL R m 134 134.2
As
SRR T t=4cm m* 18 18.2
Co
S AR AR T t=10cm m® 40 40. 3
A
B R I BFO. 10m #fiE+ |m® 61 61.4
B A
BRI BALEML) m* 48 47.8
BALERT 4t L=0.5km m* 48 47.8
BEMRTEIA, 2tE
BiasT L=9.5km L ¥&B+ |[m® 61 61.4
nong T8 EFE m’ 61 61.4
BEMRTESA, 2tE
BiasT 2.5km  Asif m’ 0.7 0.73
FAITVbER
W5 FOERE t 1.7 1.7
BEMRTEIA, 2tE
BiasT 2.5km Cois m’ 4.0 4.03
a9 )— bk
W5 FOEE t 10. 1 10. 1
Bk M-30 t=11cm m® 18 18.2
=k M-30 t=11cm m® 40 40. 3
T RS Rc-40 t=15cm m® 59 58.5
REIBT BAEAEA t=3cm | m® 59 58.5




A& P100 AsHf & AE D100 ColfiE ¥ R E M
ZHEAEL=_ 30.40 ZHEL=_ 67.10 FEHFIL= ZEHFIL= ZEHRIL=
R RREKERRET by | EEHL= EE = LEHl= LEE = LEkl = a3t
A% OKIEBH) A% OKIEBH) A% OKIEBH) 5% (4#Bh)
EE L= EE L= EE L= EE L= EE L=
£ g iR 1% Tm&Y Tm&Y Tm&ly Tm&ly Tm3zyY

SHERR UM T As t=<10cm m 2.00 60. 80 2.00 60. 80
SHERR UM T Co t=<10cm m 2.00 134. 20 134. 20
SHERRERIE L T As t=3cm m
SHERRRIEL T As t=4cm m 0. 60 18. 24 18.24
HEERRERIE L T As t=5cm m
SHEEIRERIR L T Co t=10cm m 0. 60 40. 26 40. 26
BRI T M+ m3 0. 65 19.76 0. 62 41. 60 61.36
AJEEIT et m3
BRET Rt m3 0.49 14.90 0. 49 32.88 47.78
HRET b m3
LtE®ET M-30 t=11cm m 0. 60 18. 24 18.24
LtE®ET M-30 t=11cm m 0. 60 40. 26 40.26
TERET Rc-40 t=15cm m 0. 60 18. 24 0. 60 40. 26 58. 50
RiET c-30 t=10cm m
RiET M-30 t=11cm m
BEREIET FEHEAs [t=3cm m 0. 60 18. 24 0. 60 40. 26 58. 50
BEERT ZHIEEAs |t=bcm m
FAI7ILFT BHIEAs |t=8cm m
BAmIET T8 m3 0. 65 19.76 0. 62 41. 60 61.36
BrET Asis m3 0.02 0.73 0.73
BrET Coift m3 0.06 4.03 4.03




fEEE StEE

HEES= A& ?100mm
& mE = 0.125x0.125X t 4= 0.012 m2
Tm3 Yy
HEARAS H=1.13m B
&t g = 1 | % =
L g 0.60 |#mZYIBFT ( AS T=10cm E T )
T #& 0.60 1.00x 24 = m 2.0
SHEE 0.60 |#ZEERY ZHL ( AS T=4cm )
SHHRE  0.04 1.00 % 0. 60 = m2 0. 60
MEWEY T (MEL)
1R HIlE 1.13 0.60x1.09 = m3 0. 65
T HEE 1.09 ERLI (Ewt) s
E1EH 0.00 0.60x0.82-0.012 = m3 0.49
& T 0.00 |EfE#ET (M-30 T=11cm )
1.00x 0. 60 = m2 0. 60
#HER  0.00 (TER#ET (Rc-40 T=15cm )
MR 0.00 1.00 % 0. 60 = m2 0. 60
HifR 0.84 |MBEREIBT (AS T=3cm )
#EE  0.00 1.00 % 0. 60 = m2 0. 60
T B & BRianT (L)
EpEEE  0.15 0.60x1.09 = m3 0. 65
KtsnT (ASH )
1808 0.60 0. 60 x 0. 040 = m3 | 0.024
$HEIE  0.08
#E®E  0.00
E5E0.125
fEAIET | 1.09

BR

0.84

ER
30.4
30. 4m

&t

As BiE

AE DP100mm

REIBE A EAs t=3on

TR As  t=4cm
: %o
; M-30 110
. Re-4 150
900 i
1125 HRARH
: 885
Bt
100

®100




fEEE StEE

WEES= AT OO100mm
EmE = 0.125x0.125xwt~ 4= 0.012 m2
Tm3HY
HEARAS H=1.13m B
&t g = L | & =
L iE 0.60 |&#zEtIBrT ( Co T=10cm ET )
T 8 0.60 1.00% 2% = m 2.0
SHEE 0.60 |&zZEmYZHL ( Co T=10cm )
SHEVE 0.10 1.00x0. 60 = m?2 0.60
HWIEEIT (MEL)
TRHIE 1.13 0.60x1.03 = m3 0.62
T HEA 1.03 fBERLI (EmL) s
P=gilzl 0.00 0.60x0.84-0.012 = m3 0.49
T T 0.00 |k (M-30 T=11cm )
1.00x0. 60 = m?2 0.60
FHER 0.00 |TFEMRHET (Rc-40 T=15cm )
MER 0.00 1.00x0. 60 = m?2 0.60
HifR 0.84 |MBEREIBT (AS T=3cm )
FHER 0.00 1.00x0. 60 = m?2 0.60
T B & BRianT (L)
LR AR 0.15 0.60x1.03 = m3 0.62
HLasnT (Coh”7)
HiEE 0.60 0.60x0.100 = m3 0. 060
SHEE  0.08
#E®E  0.00
E5E0.125
fEEIET | 1.03

BRE

0.84

ER
67. 1
67.1m

aft

C o |

AE DP100mm

B Co {18 BB A $RAEAs t=3cm

: bo
E M-30 110
. Re-4 150

900 i
: 835
P ERE

100

®100




¢ 20mm AEREKEMRT CKEHEM)

No.1
B X % =
2 Ea R AR~1 3k fir | § &
B #)
KER PE
RYIFLUE ®25 m 37.0 37.0
HiTJLAR ¢ 25 & 2 2
HiF—X $25x ©20 & 2 2
EEWYSTY @25 x ®20 & 1 1
Uil
EHHRT-7 r150mm m 37.0 37.0
Yo
RERAZ Y- b r1150mm m 37.0 37.0
G )
RUIFLUE
kT ® 25 m 37.0 37.0
RUIFLUERFT ¢ 25 ] 1 1
RYIFLUBMFET ¢ 20 m] 2 2
EHART-7 T m 37.0 37.0
HERIZS -t T m 37.0 37.0
(+ I
As
SHELIMT t=5cmLA T m 74 74.0
As
SE R T t=4cm m* 22 22.2
HEWIEE
HEARAE Ell BFO. 10m ki 8E L+ | m® 22 21.8
HEMIRE A
BRI BALEWRL) m’ 16 16.3
BALERT 4tF L=0.5km m’ 16 16.3
HEMIEIA, 2tE
BiusT L=9.5km LF¥&ELX |m’ 22 21.8
nonE TR IEFER m’ 22 21.8
BEmTEIA, 2tE
BtunT 2.5km AsHi m’ 0.9 0.89
TAI7Mba%
nonE FOEE t 2.1 2.1
LBk M-30 t=11cm m’ 22 22.2
T B Rc-40 t=15cm m* 22 22.2
REIBT BAHEAEA t=3cm | m’ 22 22.2




AED25 ¥ ¥ B E B B
ZHEAEL=_ 37.00 EHHIL= FEHFIL= ZEHFIL= ZEHRIL=
R RREKERRET pg | ZEHL EE = EEl= EFkl= EEkl= o
A% OKIEBH) A% OKIEBH) A% OKIEBH) 5% (4#Bh) e
EE L= EE L= EE L= EE L= EE L=
£ g iR 1% Tm&Y Tm&Y Tm3y TIm3zyY Tim3Y

SAEMREIBT T As t=10cm m 2.00 74.00 74.00
SEERRIBR T Co t=<10cm m
SHERRERIE L T As t=3cm m
SHERREIE L T As t=4cm m 0. 60 22.20 22 920
SHEERRENIE LT Co t=10cm m
SHERRERIE L T As t=8cm m
BRI T M+ m3 0.59 21.83 21.83
AHiEEIT MEL m3
BRET BRbt m3 0.44 16. 28 16. 28
BRET T+ m3
TERET M-30 t=17cm m
LtE®ET M-30 t=11cm m 0. 60 22.20 22.20
TE®RET Rc-40 t=15cm m 0. 60 22.20 22.20
RiET c-30 t=10cm m
RiET M-30 t=11cm m
BEREIET FEHEAs [t=3cm m 0. 60 22.20 22.20
BEERT ZHIEEAs |t=bcm m
FARAIF7I I HHEAs |t=8cm m
BAmIET T8 m3 0.59 21.83 21.83
BrmET Asis m3 0.02 0. 89 0.89
BtET Cobi m3




EEIE HEE

WEES= AT 025mm
% @ = 0.032x0.032x 7t 4= 0.001 m2
Tm3y EE
HEAHAS H=1. 03m B 37.0
5t -} =% | % 8| A 37.0m AE 026mm

L g 0.60 |#HZYIBFT ( As T=10cm ET )
T 8 060 1.00% 2% = m 2.0
| SfERiE  0.60 |fZEERY ZbHL ( As T=4dem )
SEE  0.04 1.00 % 0. 60 = m2 | 0.60 |

FEWiERIT (EL) HiR As  t=dcm (18 1B 4 M EEAS t=3om
JEEIE  1.03 0. 60 % 0. 99 = m3 | 0.59
tHEEl  0.99 BRLI (ERL) o !
SRl 0.00 0. 60 x 0. 72-0. 001 o m3 | 0.44 : bo
& T 0.00 |EMEERMET (M-30 T=1Tcm ) :

1.00 x 0. 60 = m2 | 0.60 L W30 1o

7R 0.00 |FREERMET (Rc-40 T=15cm ) L Re-d 190
BIEE 000 1.00x 0. 60 = m2 | 0.60 900 :
HEE 074 [BEREAT (AS T=3m ) 1032 B
7R  0.00 1.00x0. 60 = m2 | 0.60 742
T B BREAEIAL (AS T=5cm )  BRL
LEssE 015 o m?2 L 0

BIOHT (18 o Q
SiE0E  0.60 0.60x 0. 99 o m3 | 0.59 ;
HEE 0.08 (FZXsnT (Ash' 7) 100
b 0.00 0. 60 x 0. 040 = m3 | 0.024 ®25
EoE 0.032
PERIET | 0.99
R | 0.74




¢ 20mm AEREKEMRT CKEHEM)

No.1
B X % £
£ i ReAR~TiE iz E EE
#  #
K& A PE
RUIFLUE ¢ 20 m 83.8 83.8 22.8+61.0
PET /LR ¢ 20 & 6 6
Uil
EBRRT-7 rh50mm m 83.8 83.8
Ui
1RERAZ Y- rf1150mm m 83.8 83.8
(G )
RUIFLUE
i ¢ 20 m 83.8 83.8
RUIFLUERFT ®20 a 12 12
EHRRT-7 T m 83.8 83.8
HERIZSY - T m 83.8 83.8
(= T
As
BT t=5cmLA T m 46 45.6
Co
SHEUMT t=10cmLLF m 122 122.0
As
SHEERR R T t=4cm m’ 14 13.7
Co
SRR T t=10cm m’ 317 36.6
HERRAE Il
B EE BFO. 10m ki &E + |m® 48 47.6
_ HWIRA
HET BAL(ERL) m’ 37 36.9
BALERT 4t3 L=0.5km m’ 37 36.9
BEWIEIA, 2tE
Rt nT [=9.5km L&*¥&ELX |m® 47.6 47.6
nonE TR HEFER m°| 47.6 47.6
BEWIEIA, 2tE
Rt nT 2.5km Asii m’ 0.6 0.55
TAI7IAER
nonE FOEE t 1.3 1.3
BEWIEIA, 2tE
Rt nT 2.5km Coi# m’ 3.1 3.7
aVyy— Rk
nonE FOEE t 9.2 9.2
LBk M-30 t=11cm m’ 13.7 13.7
LBk M-30 t=11cm m’ 36.6 36.6
T B Rc-40 t=15cm m’ 36.6 36.6
RIEIBT BAEEAIEA t=3cm | m°® 50.3 50.3




AED20 MR AED20 MR ¥ R E B
ZHEEL=_ 61.00 ZEHAEL=_ 22.80 FEHFIL= ZEHFIL= ZEHRIL=
R RREKERRET by | EEHL= EE = LEHl= LEE = LEkl = -
A% OKIEBH) A% OKIEBH) A% OKIEBH) 5% (4#Bh)
EE L= EE L= EE L= EE L= EE L=
£ g iR 1% Tm&Y Tm&Y Tm&ly Tm&ly Tm3zyY

St iR LI BT T As t=<10cm m 2.00 45. 60 45. 60
St R LI BT T Co t=<10cm m 2.00 122. 00 122. 00
SHERRERIE L T As t=3cm m
SHERRRIEL T As t=4cm m 0. 60 13.68 13. 68
SHEERERIE LT Co t=10cm m 0. 60 36. 60 36. 60
SHERRERIE L T As t=8cm m
BRI T MEL m3 0.56 34.16 0.59 13.45 47. 61
AJEEIT et m3
BRET Rt m3 0. 44 26. 84 0.44 10. 03 36.87
BRET T+ m3
LtE®ET M-30 t=11cm m 0. 60 36. 60 36. 60
LtE®ET M-30 t=11cm m 0. 60 13.68 13. 68
TE®RET Rc-40 t=15cm m 0. 60 36. 60 36. 60
RiET c-30 t=10cm m
RiET M-30 t=11cm m
BEREIET FEHEAs [t=3cm m 0. 60 36. 60 0. 60 13.68 50. 28
BEERT ZHIEEAs |t=bcm m
FARAIF7I I HHEAs |t=8cm m
BAmIET T8 m3 0.56 34.16 0.59 13.45 47. 61
BrET Asi m3 0.02 0.55 0.55
BrmET Cotst m3 0.06 3.66 3.66




fEEE StEE

WEES= AT O20mm
E mE = 0.026x0.026x .~ 4= 0.001 m2
Tm3HY
HEARAS H=1.03m B
&t g = L | & =
L iE 0.60 |&#zEtIBrT ( Co T=10cm ET )
T 8 0.60 1.00% 2% = m 2.0
SHEE 0.60 |&zZEmYZHL ( Co T=10cm )
SHEVE 0.10 1.00x0. 60 = m?2 0.60
HWIEEIT (MEL)
TRHIE 1.03 0.60x0.93 = m3 0.56
TH#EAl  0.93 BRLI (BE®L) 4w
P=gilzl 0.00 0.60x0.74-0.001 = m3 0.44
T T 0.00 |k (M-30 T=11cm )
1.00x0. 60 = m?2 0.60
FHER 0.00 |TFEMRHET (Rc-40 T=15cm )
MER 0.00 1.00x0. 60 = m?2 0.60
HifR 0.74 |BMBEREIBT (AS T=3cm )
FHER 0.00 1.00x0. 60 = m?2 0.60
TEREE BEAEIBL (AS T=bcm )
LR AR 0.15 = m2
BRianT (L)
HiEE 0.60 0.60x0.93 = m3 0.56
EE  0.08 (FZEImsmT (Cob 7)
HLE 0.00 0.60x0.100 = m3 0. 060
B 0.026
fEEIET | 0.93

BRE

0.74

ER
61.0
&t 61. Om

AE DP20mm

B Co {F 1% |5 B3 4 4R 4 EEAs t=3cm

: %o
E M=30 110
. Re-4 150

900 i
: 786
P EME

100

®20




EEIE HEE

WEES= AT O20mm
% @ = 0.032x0.032x 7t 4= 0.001 m2
Tm3y EE
HEAHAS H=1. 03m B 22.8
5t -} =% | % 8| A 22.8m AT ©20mm

L g 0.60 |#HZYIBFT ( As T=10cm ET )
T 8 060 1.00% 2% = m 2.0
| SfERiE  0.60 |fZEERY ZbHL ( As T=4dem )
SEE  0.04 1.00 % 0. 60 = m2 | 0.60 |

FEWiERIT (EL) HiR As  t=dcm (18 1B 4 M EEAS t=3om
JEEIE  1.03 0. 60 % 0. 99 = m3 | 0.59
tHEEl  0.99 BRLI (ERL) o !
SRl 0.00 0. 60 x 0. 72-0. 001 o m3 | 0.44 : bo
& T 0.00 |EMEERMET (M-30 T=1Tcm ) :

1.00 x 0. 60 = m2 | 0.60 L W30 1o

7R 0.00 |FREERMET (Rc-40 T=15cm ) L Re-d 190
BIEE 000 1.00x 0. 60 = m2 | 0.60 900 :
HEE 074 [BEREAT (AS T=3m ) 1032 B
7R  0.00 1.00x0. 60 = m2 | 0.60 742
T B BREAEIAL (AS T=5cm )  BRL
LEssE 015 o m?2 L 0

BIOHT (18 o Q
SiE0E  0.60 0.60x 0. 99 o m3 | 0.59 ;
HEE 0.08 (FZXsnT (Ash' 7) 100
b 0.00 0. 60 x 0. 040 = m3 | 0.024 ®25
EoE 0.032
PERIET | 0.99
R | 0.74




RERIGKEMER OKEHEM)
B X % £
E4 T RAkEE i B
#_ #)
PE
KERARVIFLUE ¢ 20 m 9.5 9.5
RYUIFLUERY R PEHA
L KEE @ 100x 20 #® 1 1
i -V ElRE *-5-F
{BfELlEKEE d20x 13 & 4 4
=IKZ3BOX EfR - TERT
FRPIJIL—Z 20 & 4 4
1k kie
SiEKERYV Y + ¢ 20 1& 5 5
PEYry b ¢ 20 & 8 8
PEIME ¢ 20 & 9 9
)
BEBHRT-7 rf150mm m 9.5 9.5
)
RERAZ - r1150mm m 9.5 9.5
(G )
RYIFLUBEHRERT 620 m 9.5 9.5
AE RUE
FE MR KAEERAT $100x ¢ 20 [El3il 1 1
R ERF
RYUIFLUEHET ¢ 20 a 34 34
*-5-F
1EKIEERfF T $20x P13 [El3i 4 4
=K 3§BOXE T T ¢ 20 [El3il 4 4
BRI T m 9.5 9.5
1PER Y- T m 9.5 9.5
T
As
SHEUMT t=5cmELF m 2 2.0
Co
SHEUMT t=10cmL T m 17 17.0
As
EES t=4cm m’ 1 0.6
Co
S RREERE T t=10cm m’ 5 5.1
B IEE
B IEA BFO. 10m kB L+ | m* 5 5.4
HEWIEA
BRI BALEML) m’ 4 4.2
BEALTERT 4t3 L=0.5km m’ 4 4.2
HWIEA, 2tH
Rt nT L=9.5km L*EBLX | m°’ 5.4 5.4
0o T8 EFER m’ 5.4 5.4
HWIEA, 2tH
Rt nT 2.5km Asif m’ 0.1 0.02
TATTN AR
nonE FOEE t 0.1 0.1
HWIEA, 2tH
Rt nT 2.5km Coil m’ 0.5 0.5
a9 )— bk
nonE FOEE t 1.3 1.3
LBk M-30 t=11cm m’ 0.6 0.6
LBk M-30 t=11cm m’ 5.1 5.1
T B Rc-40 t=15cm m’ 5.7 5.7
{REIBT BAEMHAEA t=3cm | m® 5.7 5.7




RERfGKBER OKEEMH)

#BK BiR | Dl | AT | AT #1° W4y k4% (VPRR) PE PE PE HIVP HIVP —#4ib7K Ov0O | /K38
@75 | $100| ¢ 150 BE TR Yk F-R | F-A 37| 20 | #F
@50 x

BEE 2 ¥ BE | O B | O% | ERK [x020/x 020x 20 20 | ¢13 | 020 | 13| ¢20 | 13| 620 | 20 | 25| x p13 @20 | £ v42
1 NREE ¢ 20 PE ¢ 20 2.5 2.5 3 2 1 1 1
2 o - il ®20 | HPPE | ¢ 100 6.0 1 6.0 2 2 1 2 1
3 Hf =& ¢ 20 PE ® 25 0.5 0.5 2 2 1 1 1
4 By = ®20 | PE | 920 0.5 0.5 2 2 1 1 1

& 9.5 1 9.5 9 8 4 5 4




#47KCo B E $47KAs W R E B E B
ZHAEL=_ 8.50 ZHEFL=_ 1.00 FEHFIL= ZEHFIL= ZEERIL=
R RREKERRET by | EEHL= EE = LEHl= LEE = LEkl = a3t
A% OKIEBH) A% OKIEBH) A% OKIEBH) 5% (4#Bh)
EE L= EE L= EE L= EE L= EE L=
£ g iR 1% Tm&Y Tm&Y Tm&ly Tm&ly Tm3zyY

St iR LI BT T As t=<10cm m 2.00 2.00 2.00
SRR EIBT T Co t=10cm m 2.00 17.00 17.00
SHERRERIE L T As t=3cm m
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